CONTROLLED

%@){ R‘HIN‘Q-RACK DK478 VA, Euro, HD, RS Crossbar instruction

FRONT REAR
Crossbar Identification e Crossbar Identification
D B3| H Dl @ | H
VA EURO HD VA EURO HD
Front M6 Stud | M6 Screw | Measurement | Measurement | Measurement | Foot plate Rear M6 Stud | M6 Screw | Measurement | Measurement | Measurement | Foot plate
Vehicle Date Crossbar P length | length strip length | strip length Distance arrow length length strip length | strip length Distance arrow
ad . . . . Pad . R . .
(mm) (mm) per side per side (x) direction (mm) (mm) per side per side (x) direction
Jeep
Renegade 979mm / 959mm /
Sport 4dr 15- | 1375mmj M473 | 30 35 108mm N/A 38.9/16” OUT [ M473 | 30 35 98mm N/A 37.3/47 ouT
SuV
n Remove the ditch mould and lay it beside the ditch n Drill through these points to .
upside down. Identify the spots in the mould that sit allow the stud to pass, when Measurement A: 270mm -10 5/8
above the mounting points front and rear. the mould is reinstalled.
7 Measurement B: 910mm - 35 13/16”
< FRONT REAR
\® ‘
= =

= , N\ g12mm /[ 1/2

Document No. R1585 Issue 1: 05 October 2017 Page 1 of 1



rodr
Small Controlled


